Lattice Multiplication (G)

Use lattice multiplication to find each product.

1 4 7 4 7 4 5 6
7 4
3 2
6 3
7 2
9 3
1474 x 73679 = 7456 x 42323 =
7 2 6 9 2 5 2 8
6 5
6 3
8 0
7 9
6 0
7269 x 66876 = 2528 x 53090 =
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Lattice Multiplication (G) Answers

Use lattice multiplication to find each product.

1 4 7 4 7 4 5 6

0 2 4 2 7 2 1 2 2 4
1 7 8 9 8 3 8 6 0 4

0 1 2 1 3 ] 0 1 1 o)
0 3 2 1 2 1 4 8 0 2

0 2 4 2 6 2 ] ] | 3
8 6 4 2 4 5 ] 2 5 8

0 2 4 2 7 1 0 1 1 o)
6 7 8 9 8 5 4 8 0 2

0 3 6 3 9 2 1 1 1 3
0 9 6 3 6 6 1 2 5 8

2 8 4 6 0 2 8 8

1474 x 73679 = 108,602,846 7456 x 42323 = 315,560,288
7 2 6 9 2 5 2 8

4 1 3 5 6 1 2 1 4 5
4 2 2 6 4 1 0 5 0 0

4 1 3 5 6 0 1 0 2 3
8 2 2 6 4 3 6 5 6 4

5 1 4 7 8 0 0 0 0 0
6 6 6 8 2 4 0 0 0 0

4 1 4 6 7 | 4 | 7 9
1 9 4 2 3 2 8 5 8 2

4 1 3 5 6 0 0 0 0 0
2 2 2 6 4 1 0 0 0 0

1 6 4 4 1 5 2 0

7269 x 66876 = 486, 121,644 2528 x 53090 = 134,211,520
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